MA 139 EXAM THREE REVIEW PROBLEMS

Answers
1.  103°
2.  The two short sides cannot intersect if the third side is 5 inches long.

3.  Side DF is 4.2 cm long.  Angle F is 42°, and angle D is 93°.

4.  JS = 3.25 inches, and SP = 2.125 inches.

5.   A. 17,952 feet

C.  3.6576 meters

B.  0.010 miles

D.  15.75 inches
6.   A. 0.35 sq feet

C. 1,612.9 sq cm

B.  97,574,400 sq ft
D. 30,000 sq cm

7.   A. 5 gallons

C.  17 cups

      B.  4.25 quarts

D. 2053 yards per minute

8.  True-False.  A statement should be marked “false” if it is never true or if it is not necessarily true.  If a statement is only sometimes true, mark it as “false.”  For “true” statements, explain briefly why they are true.  For “false” statements, explain why they are false or give a counter-example.

a. 
False


If two right triangles have congruent hypotenuses, then the triangles are congruent.

b.
True


If 
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c. True (can get ASA)
In 
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, then the triangles must be congruent.

d. 
False


If the hypotenuse of one right triangle is twice the length of the hypotenuse of a second right triangle, then the triangles are similar.
9.  Can show 
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 by ASA. 
10.  BC = 16.25 in
11.  
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:

 by AA similarity.

12.  x = 5.33 and y = 20 
13.  51.2 m 
14.  We can say that the scale factor is greater than 0 and less than 1.  We can estimate that the scale factor is about one-half.

15.  No similar triangles.  The ratios of the lengths of the sides are not equal.
16.  For example: a square with sides of 3 units each and a non-square rhombus with sides of one unit each.

17.  The first example works, but the second one doesn’t.  Wendy is wrong.
18.  Triangles are similar by SSS. 
19.  1.27 sq. miles; 815 acres.
20.  
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543 cm


21.  Area = 10.43 in2; Perimeter = 17.14 in


22.  8.24 cm2
23.  A regular hexagon is inscribed in a circle as shown below.  Find each of the following areas:

a. The area of the hexagon = 93.53 cm2
b. The area of the circle = 113.10 cm2
24.  Find the area of the shaded region = 37.68 cm2
25.  40 m
26.  4.5 units of area 
27.  False.  Consider a 5 × 5 square versus a 12 × 1 rectangle.
28.  Two semicircular arcs, of radius 3 m and 5 m are centered on the diameter 
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 of a large semicircle as shown.  


a. The length of 
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 is 16 m
b. The two routes are both 8π m
29.  Perimeter = 240 mm; Area = 2400 mm2 
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